:I » FirstRanker.com

Firstranker's choice www.FirstRanker.com www.FirstRanker.c

Code No: 126AH R13
JAWAHARLAL NEHRU TECHN OLOGICAL UNIVERSITY HYDERABAD

(Electrlcal and Electromcs Engmeermg)

Time: 3 hours Max. Marks: 75

Note: This question paper contains two parts A and B.

Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

cansists-of 5 Units, Answer any ong full-question frem each unit, Each questron cames
~~~~~ IO marks and may have ay b cas sub questrons / ;

PART - A
(25 Marks)

l.a)  State two sources of error in moving iron instrument

e) Which errors are possrble to occur in wattmeter? ' - [2]
f)  How creeping adjustment is provided in induction type single phase energy meter?
(3]
g)  What are the difficulties in measurement of high resistance? 2]
h) What is hay s bridge‘7 Why itis preferred over maxwell s bridge? [3]
L e, 2,
' !Why is @ CRO; consrdered one; ‘of the Tpst 1mp01’cant'teols in the ﬁe“ld‘_ of modem
"""" “electrofiics? I [3]
PART-B
(50 Marks)

Idlfference acrosy’ it termmals is 100 mV-»-Calculate (1) the; shunt resrstance for a foll; |

“scale ‘deflection’ corresporiding to 100™A;"and (ii) the ‘series resistance™fot full scale* ™

reading with 1000 V. Calculate the power dissipation in each case.
b) With usual notation derive an expression for the deflecting torque in a PMMC
instrument. [5+5]
OR

VOltmeters

Explain_how a potentlal d1v1der arrangement is used for multrphers used mult1 range )

om

A.moving-coil instrument, gives the full:scale deflection-of 10 mA when-the potential ..

[5+5]="
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7.a)

b)

Bxplain with thé help of uitable diagr.

/phase-shifting device? Explain. /% .

E plam “the prmc

Describe the methods employed for reducing ratio error and phase angle error in PTs?
Why the secondary winding of a CT should never be open circuited with

its primary
. [5+

still eriergized? Explain briefly.

ox:

........... H

ams, how ac potentiometers can be used for

(i) calibration of voltmeter (ii) calibration of ammeter.

A Crompton’s potentiometer consists of a resistance dial having 15 steps of 10 ohm
each and a series connected slide wire of 10 ohm divided into 100 divisions. If the
working current of the potentiometer is 10 mA and each division of slide wire can be

read accurately upto 1/5%, of its span, calculate the. resolution of the potentiometer An .
volts, - A [5+51 % -

An electrodynamometer-type wattmeter has a current coil with a resistance of 0.1 Q
and a pressure coil with resistance of 6.5 k€. Calculate the percentage errors while the
meter is connected as (i) current coil to the load side, and (ii) pressure coil to the load
side. The load is specified as (I) 12 A at 250 V with unity power factor, and (II) 12 A at

25 V with 0.4 lagging pawer factor,

How: the.phantom

oading test is carfied out with'rot

sicter using |

(551 "

OR
Describe the method of measurement of reactive power in three phase circuits using

single dynamometer type wattmeter.
Explain the errors caused due to pressure coil inductance and pressure coil capacitance

in electrodynamometer wattmeter. [5+3]

a K?:lvin’s—-‘idéyiz_le “bridge .,-'f(‘)“r“"-.,.mgaé'ﬁremer}-t{ of

e of “workingof

* unknown low resistances. Explain how the effects of contact resistance and resistance

of leads are eliminated. [10]
OR

Explain why the maxwell’s inductance capacitance bridge is useful for the

measurement of inductance of coils having quality factors between 1 and 10.

Define-quality factor ofa. coil. Why ent of
inductance of high-Q coils? A [5451 L -

What is an LVDT? Explain its working principle with necessary diagrams and

characteristics. What are its advantages and uses?

Describe with suitable diagrams the working principle of strain gauges. [5+5]
OR

Write short notes on th,e..fq}llowing.:

) c%f}ticzi) ampli{ﬁ - _ _ . .
/b) Prée.running $weép™-... EAR Y S
¢) Oscilloscope limitations
d) Electromagnetic focusing. [10]
....... —00000-
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